

Some theorems concerning Fourier series and its conjugate series on Abel type summability methods (**)

INTRODUCTION

In a recent paper, Borwein [1] constructed a new method of summability A_λ , ($\lambda > -1$) for an infinite sequence $\{s_n\}$ and investigated some of its properties. One of the authors (Mishra [2, 3]) studied many of its properties for infinite series as well as for Fourier series. In the present paper, we investigate some theorems for this new summability method for Fourier series and the series conjugate to it.

1. DEFINITIONS

Let $e_n^\lambda = \binom{n+\lambda}{n}$ and $\{s_n\}$ be any sequence of numbers. If, for $\lambda > -1$,

$$(1.1) \quad (1-x)^{\lambda+1} \sum_{n=0}^{\infty} e_n^\lambda s_n x^n$$

is convergent for all x in the open interval $(0,1)$ and tends to a finite limit s as $x \rightarrow 1$ in $(0,1)$, we say that the sequence $\{s_n\}$ is summable A_λ to the sum s and we write

$$s_n \rightarrow s (A_\lambda).$$

(A_0) method is the ordinary Abel method (A) .

2. A_λ - KERNELS

Suppose that $f(x)$ is integrable (L) in the interval $(-\pi, \pi)$ and periodic with the period 2π and let

$$(2.1) \quad S[f] \sim \frac{a_0}{2} + \sum_{v=1}^{\infty} (a_v \cos v x + b_v \sin v x)$$

and

$$(2.2) \quad \widetilde{S}[f] \sim \sum_{v=1}^{\infty} (a_v \sin v x - b_v \cos v x)$$

(*) Department of Mathematics, University of Gorakhpur, India.

(**) Memoria presentata dall'Accademico dei XL E. BOMPIANI il 14-1-1974.

are respectively the Fourier series and conjugate to the Fourier series of $f(x)$ with the Fourier coefficients a_v, b_v . The Λ_λ means of $S[f]$ is the function

$$(2.3) \quad f_\lambda(\pi, x) = (1 - \pi)^{\lambda+1} \sum_{n=0}^{\infty} e_n^\lambda s_n(x) r^n \quad (0 \leq \pi < 1),$$

$$= (1 - \pi)^{\lambda+1} \sum_{n=0}^{\infty} \left\{ \frac{1}{2} a_n + \sum_{v=1}^n (a_v \cos v x + b_v \sin v x) \right\} e_n^\lambda \pi^n.$$

Since the Fourier coefficients a_v, b_v tend to zero, as $r \rightarrow 1$ in the open interval $(0,1)$ the series converges absolutely and uniformly for $0 < r \leq 1 - \delta, \delta > 0$.

From (2.3), we see that

$$(2.4) \quad f_\lambda(\pi, x) = (1 - r)^{\lambda+1} \sum_{n=0}^{\infty} e_n^\lambda r^n \frac{1}{\pi} \int_\pi^\pi f(t) D_n(t - x) dt$$

$$= \frac{1}{\pi} \int_\pi^\pi f(t) P_\lambda(\pi, t - x) dt,$$

where Dirichlet kernel $D_n(t) = \frac{1}{2} + \sum_{v=1}^n \cos vt$

$$= \frac{\sin \left(n + \frac{1}{2} \right) t}{2 \sin \frac{t}{2}}$$

and poisson type kernel

$$P_\lambda(\pi, t) = (1 - \pi)^{\lambda+1} \sum_{n=0}^{\infty} e_n^\lambda r^n D_n(t).$$

Similarly the Λ_λ means of $\widetilde{S}[f]$ is given by

$$(2.5) \quad \widetilde{f}_\lambda(\pi, x) = \frac{1}{\pi} \int_\pi^\pi f(t) Q_\lambda(\pi, t - x) dt,$$

where

$$Q_\lambda(\pi, t) = (1 - \pi)^{\lambda+1} \sum_{n=0}^{\infty} e_n^\lambda r^n \widetilde{D}_n(t)$$

and

$$\widetilde{D}_n(t) = \sum_{v=1}^n \sin vt = \frac{\cos \frac{t}{2} - \cos \left(n + \frac{1}{2} \right) t}{2 \sin \frac{t}{2}}.$$

Kernel $P_\lambda(\pi, t)$ satisfies the following conditions :

- (A) $\frac{1}{\pi} \int_{-\pi}^{\pi} P_\lambda(\pi, t) dt = 1$;
 (B) $P_\lambda(\pi, t) \geq 0$, $(-\pi \leq t \leq \pi)$;
 (C) $\text{Max}_{\delta \leq t \leq \pi} |P_\lambda(\pi, t)| \rightarrow 0$, $(0 < \delta < \pi)$.

Proof of condition (A) is trivial. For condition (B), we have

$$\begin{aligned}
 P_\lambda(\pi, t) &= (1-\pi)^{\lambda+1} \sum_{n=0}^{\infty} c_n^\lambda t^n \frac{\sin\left(n + \frac{1}{2}\right)t}{2 \sin \frac{t}{2}} \\
 (2.6) \quad &= (1-\pi)^{\lambda+1} \frac{1}{2 \sin \frac{t}{2}} \left[I_y \left\{ e^{\frac{it}{2}} (1-\pi e^{it})^{-\lambda-1} \right\} \right] \\
 &= \frac{(1-\pi)^{\lambda+1} \sin \left\{ (\lambda+1) \tan^{-1} \frac{\pi \sin t}{1-\pi \cos t} + \frac{t}{2} \right\}}{2 \sin \frac{t}{2} (1+\pi^2 - 2\pi \cos t)^{\frac{\lambda+1}{2}}}
 \end{aligned}$$

where I_y identifies the imaginary part of the expression under consideration. The right hand side in (2.6) is an even function and positive in the said interval. To satisfy condition (C), we have

$$\begin{aligned}
 * P_\lambda(\pi, t) &\leq \frac{\delta^{\lambda+1}}{t(\delta^2 + t^2)^{\frac{\lambda+1}{2}}} , \quad (\delta = 1-\pi) , \\
 &\leq \frac{\Lambda \delta^{\lambda+1}}{t^{\lambda+2}} \leq \frac{\Lambda}{(n+1)^{\lambda+1} (\delta')^{\lambda+2}} \rightarrow 0 \text{ as } n \rightarrow \infty ,
 \end{aligned}$$

where Λ is a positive number and $\delta' \leq t \leq \pi$.

Thus

$$\text{Max}_{\delta' \leq t \leq \pi} |P_\lambda(\pi, t)| \rightarrow 0 .$$

(*) It is also easy to prove that

$$P_\lambda(\pi, t) \leq \frac{\Lambda}{\delta} , \quad (0 < t \leq \pi , 0 < \pi < 1) .$$

With the help of condition (A), we have

$$f_h(\pi, x) - f(x) = \frac{2}{\pi} \int_0^{\pi} \mathcal{O}_x(t) P_h(\pi, t) dt$$

for

$$\mathcal{O}_x(t) = \frac{1}{2} \{f(x+t) + f(x-t) - 2f(x)\}.$$

3. IN THIS SECTION, WE HAVE THE FOLLOWING THEOREMS

Theorem (3.1). At every point x_0 at which the limits $f(x_0 + 0)$ and $f(x_0 - 0)$ exist, we have

$$f_h(\pi, x_0) \rightarrow \frac{1}{2} \{f(x_0 + 0) - f(x_0 - 0)\}.$$

In particular, $f_h(\pi, x_0) \rightarrow f(x_0)$ at every point of continuity of $f(x)$.

Theorem (3.2). The Fourier Series of a function $f(x) \in L(0, 2\pi)$ is summable A_λ almost everywhere to the sum $f(x)$.

Theorem (3.3). Suppose that

$$F(x) \sim \frac{A_0}{2} + \sum_{v=1}^{\infty} (A_v \cos vx + B_v \sin vx)$$

and that

$$\lim_{h \rightarrow +0} \frac{F(x_0 + h) - F(x_0 - h)}{2h} = D_1 F(x_0)$$

exists, finite or infinite. Then $S^r[F]$ is summable A_λ at x_0 to the sum $D_1 F(x_0)$, ie.

$$(3.1) \quad (1 - \pi)^{\lambda-1} \sum_{v=1}^{\infty} v e^{\lambda} (B_v \cos vx_0 - A_v \sin vx_0) r^v$$

tends to $D_1 F(x_0)$ as $r \rightarrow 1$.

More generally, the limits of indetermination of (3.1) as $r \rightarrow 1$ are contained between $D_1 F(x_0)$ and $\bar{D}_1 F(x_0)$, where $D_1 F(x_0)$ and $\bar{D}_1 F(x_0)$ are respectively the lower and upper first symmetric derivatives of $F(x)$ at $x = x_0$.*

Theorem (3.4). If $F'(x_0)$ exists and is finite, then $\frac{\Delta F_h(\pi, x)}{\Delta x} \rightarrow F'(x_0)$ as (r, x) approaches $(1, x_0)$ non-tangentially**.

(*) For details, see ([1] p. 99).

(**) For definition, see N. K. Bary's A Treatise on Trigonometric series, English translation by M. F. Mullins, Pergamon Press, (1964), p. 15.

The proof of this theorem is almost parallel to that of theorem 7.6 (Zygmund [4], p. 100).

Theorem (3.5). Let $F(x)$ be the indefinite integral of an integrable and periodic $f(x)$. Then $S[\tilde{f}]$ is summable A_λ to the sum $D_r F(x_0)$ at every point x_0 at which $D_r F(x_0)$ exists, finite or infinite.

Theorem (3.6). Let $F(x)$ be the indefinite integral of an integrable and periodic $f(x)$, then at every point at which $F'(x_0) = f(x_0)$ exists and is finite (in particular almost every where), the Poisson type integral $f_\lambda(r, x)$ of $f(x)$ tends to $f(x_0)$ as $r \rightarrow 1$ at the point x_0 non-tangentially.

Theorem (3.7). If $F(x)$ is a periodic and integrable function, the difference

$$(3.2) \quad \frac{\partial \tilde{F}_\lambda(\pi, x)}{\partial x} - \left(-\frac{1}{\pi} \int_\delta^{\pi-\delta} \frac{F(x+t) + F(x-t) - 2F(x)}{4 \sin^2 \frac{t}{2}} dt \right)$$

tends to zero as $r \rightarrow 1$ for every x for which $F(x)$ is smooth i.e. at which

$$(3.3) \quad F(x+t) + F(x-t) - 2F(x) = o(t).$$

Theorem (3.8). * If $f(x)$ is integrable and $F(x)$ the indefinite integral of f then, for $1-r = \delta$,

$$(3.4) \quad \tilde{f}_\lambda(\pi, x) - \left(-\frac{1}{\pi} \int_\delta^\pi [f(x+t) - f(x-t)] \frac{1}{2} \cot \frac{t}{2} dt \right) \rightarrow 0 \text{ as } \pi \rightarrow 1$$

at every point at which $F(x)$ is smooth, in particular where $F(x)$ is continuous. If $f(x)$ is everywhere continuous, the convergence is uniform.

Proof of this theorem runs parallel to the Theorem (7.20) (Zygmund [4], Chapter III).

Theorem (3.9). If the conjugate series converges at a point where $\tilde{f}(x)$ exists, then it is summable (A) to the sum $\tilde{f}(x)$.

The proof of this theorem is almost trivial.

The cases $\lambda = 0$ of Theorems (3.1)-(3.9) are given in (Zygmund [4] Chapter III). Theorems (3.1)-(3.6) are concerned with the Fourier series of $f(x)$ and Theorems (3.7)-(3.9) for the conjugate series to the Fourier series of $f(x)$.

(*) A similar theorem stands in ([5], Theorem 76) for $\lambda = 0$.

4. IN THIS SECTION WE GIVE THE PROOFS

Proofs of Theorems (3.1) and (3.2) are trivial. To prove Theorem (3.3), we require the following lemma:

Lemma 1. If a positive kernel K_n satisfies condition (C), then for any sequence $\{x_n\} \rightarrow 0$, we have

$$m(x_n) \leq \liminf F_\lambda(\pi, x) \leq \limsup F_\lambda(\pi, x) \leq M(x_n),$$

where $m(x_n)$ and $M(x_n)$ are respectively minimum and maximum of $F(x)$ at the point x_n and $F_\lambda(r, x)$ is the Abelmean of $S[F]$.

The proof of this lemma is analogous to that of Theorem 2.30 (Zygmund [4], p. 88).

Consider now the proof of Theorem (3.3). If $F_\lambda(r, x)$ is the poisson type integral of $F(x)$, we have

$$\begin{aligned} \left[\frac{\partial}{\partial x} F_\lambda(\pi, x) \right]_{x=x_n} &= (1-\pi)^{\lambda+1} \sum_{n=0}^{\infty} e_n^\lambda r^n \sum_{v=1}^n v (B_v \cos v x_n - A_v \sin v x_n) \\ &= (1-\pi)^{\lambda+1} \sum_{n=0}^{\infty} e_n^\lambda r^n \frac{1}{\pi} \int_{-\pi}^{\pi} F(x_n+t) \sum_{v=1}^n v \sin vt \, dt \\ &= -(1-\pi)^{\lambda+1} \sum_{n=0}^{\infty} e_n^\lambda r^n \frac{1}{\pi} \int_{-\pi}^{\pi} \psi(t) \left[\frac{d}{dt} \left\{ \frac{1}{2} + \sum_{v=1}^n \cos vt \right\} \right] dt \\ (4.1) \quad &= -(1-\pi)^{\lambda+1} \sum_{n=0}^{\infty} e_n^\lambda r^n \frac{1}{2\pi} \int_{-\pi}^{\pi} \psi(t) \cdot \\ &\quad \cdot \left[\frac{\left(n + \frac{1}{2} \right) \cos \left(n + \frac{1}{2} \right) t \sin \frac{t}{2} - \frac{1}{2} \sin \left(n + \frac{1}{2} \right) t \cos \frac{t}{2}}{\sin^2 \frac{t}{2}} \right] dt, \end{aligned}$$

where

$$\psi(t) = \frac{1}{2} \{ F(x_n+t) - F(x_n-t) \}.$$

For evaluation of integral, we have

$$\begin{aligned} \sum_{n=0}^{\infty} n e_n^\lambda \pi^n \cos \left(n + \frac{1}{2} \right) t &= \pi (\lambda + 1) \sum_{n=0}^{\infty} e_n^{\lambda+1} \pi^{n-1} \cos \left(n + \frac{1}{2} \right) t \\ &= \pi (\lambda + 1) R_\psi \left[e^{\frac{31t}{2}} (1 - \pi e^{t1})^{-\lambda+1} \right] \\ &= \pi (\lambda + 1) \pi_1^{-\lambda+1} \cos \left\{ (\lambda + 2) \theta + \frac{3t}{2} \right\}, \end{aligned}$$

where R_ψ stands for real part of the expression under consideration and

$$\begin{aligned} \pi_1 &= \sqrt{(1 + \pi^2 2 \pi \cos t)}, \\ \theta &= \tan^{-1} \frac{\pi \sin t}{1 - \pi \cos t}. \end{aligned}$$

Similarly

$$\sum_{n=0}^{\infty} e_n^\lambda \pi^n \cos \left(n + \frac{1}{2} \right) t = \pi_1^{-\lambda+1} \cos \left\{ (\lambda + 1) \theta + \frac{t}{2} \right\}$$

and

$$\sum_{n=0}^{\infty} e_n^\lambda \pi^n \sin \left(n + \frac{1}{2} \right) t = \pi_1^{-\lambda+1} \sin \left\{ (\lambda + 1) \theta + \frac{t}{2} \right\}.$$

By these equations, (4.1) reduces to

$$\begin{aligned} \left[\int_{\lambda x}^{\lambda} F_\lambda(\pi, x) \right]_{x=x_1} &= - \frac{(1-\pi)^{\lambda+1}}{\pi_1^{\lambda+2}} \frac{1}{2\pi} \int_{-\pi}^{\pi} \frac{\psi(t)}{\sin^2 \frac{t}{2}} \left[\pi (\lambda + 1) \sin \frac{t}{2} \right. \\ &\quad \cdot \cos \left\{ (\lambda + 2) \theta + \frac{3t}{2} \right\} - \frac{1}{2} \pi_1 \sin (\lambda + 1) \theta \left. \right] dt \\ (4.2) \quad &= \frac{1}{\pi} \int_{-\pi}^{\pi} g(t) K_\lambda(\pi, t) dt, \end{aligned}$$

where

$$g(t) = \frac{\psi(t)}{\sin t}, \text{ and}$$

$$\begin{aligned} (4.3) \quad K_\lambda(\pi, t) &= - \frac{(1-\pi)^{\lambda+1} \cos \frac{t}{2}}{\pi_1^{\lambda+2} \sin \frac{t}{2}} \left[\pi (\lambda + 1) \sin \frac{t}{2} \cos \left\{ (\lambda + 2) \theta + \frac{3t}{2} \right\} \right. \\ &\quad \left. - \frac{1}{2} \pi_1 \sin (\lambda + 1) \theta \right]. \end{aligned}$$

For ordinary Abel method, where $\lambda = 0$, we have

$$(4.4) \quad K_0(\pi, t) = K(\pi, t) = \frac{\pi(1-\pi^2)\sin^2 t}{\pi_1^2}$$

Kernel $K_\lambda(\pi, t)$ of (4.2) satisfies conditions (A), (B) and (C) of Section 2. To prove $\frac{1}{\pi} \int_{-\pi}^{\pi} K_\lambda(\pi, t) dt = 1$, we suppose in particular that $F(x) = \sin x, x_0 = 0$.

Hence $F_\lambda(\pi, x) = \sin x$ and (4.2) proves (A). Conditions (B) and (C) are trivial. We divide now the proof into two parts:

Case 1: When $g(t)$ is integrable (L).

We see that minimum and maximum of $g(t)$ at the point $t = 0$ are nothing but $D_1 F(x_0)$ and $D_1 F(x_0)$ and kernel $K_\lambda(\pi, t)$ satisfies condition (C); applying Lemma, we have

$$\begin{aligned} D_1 F(x_0) &\leq \liminf_{v \rightarrow 1} \sum_{v=1}^{\infty} (1-\pi)^{\lambda+1} v (B_v \cos v x_0 - A_v \sin v x_0) \pi^v e_v^\lambda \\ &\leq \limsup_{v \rightarrow 1} \sum_{v=1}^{\infty} (1-\pi)^{\lambda+1} v (B_v \cos v x_0 - A_v \sin v x_0) \\ &\quad \cdot r^v e_v^\lambda \leq D_1 F(x_0) . \end{aligned}$$

Or,

$$\begin{aligned} \lim_{\pi \rightarrow 1} \sum_{v=1}^{\infty} v (B_v \cos v x_0 - A_v \sin v x_0) (1-\pi)^{\lambda+1} \pi^v e_v^\lambda \\ = D_1 F(x_0) \quad (g(t) \in L) , \end{aligned}$$

Which establishes the theorem for the case 1.

Proof of Case 2: When $g(t)$ is not integrable (L), the proof runs parallel to that of theorem 7.2 in Zygmund [4] Chapter III) and therefore we omit it. This completes the proof of case 2.

Thus we have completely proved Theorem (3.3).

Proof of Theorem (3.5). Since $F(x) = \int_0^x f(t) dt$, let the constant term of $S[f]$ is zero, we have

$$S[f] = S'[F]$$

and then using Theorem (3.3) and Theorem (3.4) we have this theorem.

Proof of Theorem (3.6). Here

$$F_\lambda(\pi, x) = \frac{\lambda}{\delta x} F_\lambda(\pi, x) \text{ as } (\pi, x) \rightarrow (1, x_0)$$

nontangentially. But Theorem (3.4) gives

$$\frac{\partial}{\partial x} F'_\lambda(\pi, x) \rightarrow F'(\bar{x}_0)$$

ie.

$$f'_\lambda(\pi, x) \rightarrow f'(x_0)$$

as $(r, x) \rightarrow (1, x_0)$ nontangentially.

This completes the proof.

Proof of Theorem (3.7). For given $\tilde{F}_\lambda(\pi, x)$, we have

$$\begin{aligned} \frac{\partial}{\partial x} \tilde{F}_\lambda(\pi, x) &= -\frac{1}{\pi} \int_{-\pi}^{\pi} F(t) \frac{\partial}{\partial x} Q_\lambda(\pi, t-x) dt \\ &= \frac{1}{\pi} \int_0^{\pi} \{F(x+t) + F(x-t) - 2F(x)\} Q'_\lambda(\pi, t) dt. \end{aligned}$$

Where

$$\begin{aligned} Q'_\lambda(\pi, t) &= \frac{d}{dt} \left\{ (1-\pi)^\lambda + 1 \sum_{n=0}^{\infty} e_n^\lambda \pi^n \frac{\cos \frac{t}{2} - \cos \left(n + \frac{1}{2}\right) t}{2 \sin \frac{t}{2}} \right\} \\ &= \frac{(1-\pi)^\lambda + 1}{2 \sin^2 \frac{t}{2}} \sum_{n=0}^{\infty} e_n^\lambda \pi^n \left\{ -\frac{1}{2} + \frac{1}{2} \cos nt + n \sin \left(n + \frac{1}{2}\right) t \cdot \sin \frac{t}{2} \right\}. \end{aligned}$$

The fact $\sum_{n=0}^{\infty} e_n^\lambda \pi^n = (1-\pi)^{-\lambda+1}$, ($\lambda > -1$), gives

$$\begin{aligned} \sum_{n=0}^{\infty} e_n^\lambda \pi^n \cos nt &= \operatorname{Re} \left\{ (1-\pi e^{it})^{-\lambda+1} \right\} \\ &= \pi_1^{-\lambda+1} \cos(\lambda+1)\theta \end{aligned}$$

and

$$\begin{aligned} \sum_{n=0}^{\infty} e_n^\lambda \pi^n n \sin \left(n + \frac{1}{2}\right) t &= \pi(\lambda+1) \operatorname{Im} \left[e^{\frac{it}{2}} (1-\pi e^{it})^{-\lambda+1} \right] \\ &= \pi(\lambda+1) \pi_1^{-\lambda+1} \sin \left\{ (\lambda+2)\theta + \frac{3t}{2} \right\}. \end{aligned}$$

With the above relations, we have

$$(4.6) \quad Q'_\lambda(\pi, t) = \frac{(1-\pi)^{\lambda+1}}{\pi_1^{\lambda+2} 4 \sin^2 \frac{t}{2}} \left[\pi_1 \cos(\lambda+1)\theta - \frac{\pi_1^{\lambda+2}}{(1-\pi)^{\lambda+1}} \right. \\ \left. + 2\pi(\lambda+1) \sin \left\{ (\lambda+2)\theta + \frac{3t}{2} \right\} \sin \frac{t}{2} \right].$$

In particular

$$Q'_0(\pi, t) = Q'(\pi, t) = \frac{\pi[(1+\pi^2)\cos t - 2\pi]}{\pi_1^4}$$

and

$$Q'_\lambda(1, t) = Q'(1, t) = -\frac{1}{2(1-\cos t)}, \text{ (being independent of } \lambda).$$

We also have

$$|Q'_\lambda(\pi, t)| = O\left(\frac{1}{\delta^2}\right).$$

By (3.3), $\xi(t) = o(t)$. Hence

$$(4.7) \quad \frac{\lambda}{\delta x} \widetilde{F}_\lambda(\pi, x) = \frac{1}{\pi} \int_0^\pi \xi(t) Q'_\lambda(\pi, t) dt + \frac{1}{\pi} \int_0^\pi \xi(t) Q'_\lambda(\pi, t) dt \\ = A + B,$$

say; where

$$(4.8) \quad |A| = \frac{1}{\pi} \int_0^\pi |\xi(t)| O\left(\frac{1}{\delta^2}\right) dt = o(1)$$

and

$$(4.9) \quad B = \frac{1}{\pi} \int_0^\pi \xi(t) \{Q'_\lambda(\pi, t) - Q'_\lambda(1, t)\} dt + \frac{1}{\pi} \int_0^\pi \xi(t) Q'_\lambda(1, t) dt \\ = B_1 + B_2,$$

say. Here

$$B_1 = \frac{1}{\pi} \int_0^\pi \xi(t) [Q'_\lambda(\pi, t) - Q'_\lambda(1, t)] dt$$

and

$$B_2 = \frac{1}{\pi} \int_0^\pi \xi(t) Q'_\lambda(1, t) dt.$$

It is easy to verify that

$$\begin{aligned}
 (4.10) \quad Q'_\lambda(\pi, t) - Q'_\lambda(1, t) &= \frac{(1-\pi)^{\lambda+1}}{4\pi_1^{\lambda+2} \sin^2 \frac{t}{2}} \left[\pi_1 \cos(\lambda+1)\theta + 2\pi(\lambda+1) \right. \\
 &\quad \left. \cdot \sin \frac{t}{2} \sin \left\{ (\lambda+2)\theta + \frac{3t}{2} \right\} \right] \\
 &= \frac{(1-\pi)^{\lambda+1}}{4\pi_1^{\lambda+2} \sin^2 \frac{t}{2}} \left[(1-\pi) \cos \lambda\theta - 2 \sin \left(\lambda\theta - \frac{t}{2} \right) \sin \frac{t}{2} \right. \\
 &\quad \left. + 2\pi(\lambda+1) \sin \frac{t}{2} \sin \left\{ (\lambda+2)\theta + \frac{3t}{2} \right\} \right].
 \end{aligned}$$

By virtue of

$$\cos \left(2\theta + \frac{3t}{2} \right) = \frac{\cos \frac{t}{2}}{\pi_1^2} \left[4 \cos^2 \frac{t}{2} - 3 + \pi^2 - 2\pi \right]$$

and

$$\sin \left(2\theta + \frac{3t}{2} \right) = \frac{\sin \frac{t}{2}}{\pi_1^2} \left[4 \cos^2 \frac{t}{2} - (1+\pi)^2 \right],$$

it is easy to see that

$$\sin \left\{ (\lambda+2)\theta + \frac{3t}{2} \right\} = O \left(\frac{\delta}{t} \right).$$

Similarly

$$\sin \left(\lambda\theta - \frac{t}{2} \right) = O \left(\frac{\delta}{t} \right).$$

Hence from (4.10), we have

$$Q'_\lambda(\pi, t) - Q'_\lambda(1, t) = O \left(\frac{\delta^{\lambda+2}}{t^{\lambda+1}} \right).$$

Thus,

$$|B_1| \leq \delta^{\lambda+2} \int_{\delta}^{\pi} o(t^{-\lambda-2}) dt = o(1),$$

and from (4.7), (4.8) and (4.9), we have

$$\frac{\partial}{\partial x} \widehat{F}_\lambda(\pi, x) - \left(-\frac{1}{\pi} \int_{\delta}^{\pi} \frac{F(x+t) + F(x-t) - 2F(x)}{4 \sin^2 \frac{t}{2}} dt \right) \rightarrow 0$$

as $r \rightarrow 1$. This completes the proof of Theorem (3.7).

REFERENCES

- [1] D. BORWEIN: On a scale of Abel type summability method, *Proc. Cambridge Philos. Soc.* 53 (1957), 318-322.
- [2] B. P. MISHRA: The summability (A_2) of the Fourier series and the first-differentiated Fourier series, *Mathematic Student*, XLA (1972), 331-337.
- [3] B. P. MISHRA: Ph. D. Thesis, contributions to strong Riesz and Abel type summability methods of infinite series, University of Gorakhpur (1966).
- [4] A. ZYGMUND: *Trigonometric Series I*, Cambridge at the University Press (1959).
- [5] G. H. HARDY and W. W. ROGOSINSKI: *Fourier Series*, Cambridge at the University Press (1956).